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[Roll Number

Candidate
Name

Venue Name
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Q.1 forfr fafeee oo smor &, 'DKQX' & 'WPJC' forar =mar &1 38 o7 3 'AFKP' & 3 forar soem?
Ans X1 ZUQJ

X 2 ZvaL

X 3. ZTOK

v 4 ZUPK

Question ID : 123568321
Status : Answered
Chosen Option : 4

Q.2 Fr fow v e i et @ G @ 921 v A gY B e A & o St v E e &
¥\ dt T wftE T @ e Rws o € 9 S & Fi oy T aReee 9§ 57 FuEr
FT HTEOT FLAFL gie |
EZICH
1. T 7, oo &
2. #% o 7o, FE =8 8
s
. T A, Fe &
Il.zwsft e, e E
Il F& oo, T 8 2

1 e TSy Il SeEROT FReT B
X 2 Fae TS || FFEOT FAT B
X s Faw oy | 3R 11 seERor ae E
K 4 Faer fosmy | 3T 11 srgEwor w1

Question ID : 123568325
Status : Answered
Chosen Option: 1




@ PR gEe # wa-fEw (7) & T = A R &7 w0

K
<2 N
v M
<40

Question ID : 123568315
Status : Answered
Chosen Option : 3

Q4 5w oo, & 7 Al Fr @ AR @ T @, & 3 TE U ofT A waT w0

N
S
N3

Ans

Question ID : 123568337
Status : Answered
Chosen Option : 1




Q.5 Select the option in which the words share the same relationship as that shared by the given pair of words.
North : South

Ans 1. Ductile : Bendable
/< 2. Whole : Total
« 3 Frown : Smile

/< 4. Integrity : Honesty

Question ID : 123568320
Status : Answered
Chosen Option : 3

Q.6 Rr w37 3@ &, 'HES 57 WA F @fEr §, S BEA § A w90 WA §, Fea 5
il Fr g & S W § a0 Fer 6w § HR T a7 ot o & S iw @ a
FEAT GHS A &1 3N H & a1 "5Egr 39 Ay Auh & anfet fr g @ g §

o fre A ¥ S A A 39 A R REw # A ae o = AR 5w # Regw a8
Ans X136

v 2 30

X3 29

X4 27

Question ID : 123568339
Status : Answered
Chosen Option : 2

Q7 Arrange the following words in a logical and meaningful order.

1. Quadrillion
. Quintillion
3. Million
4. Octillion
5

[

. Trillion

Ans X1, 4-3-5-1-2
K 2 2-3-5-1-4
V3 3-5-1-2-4
X 4 3-5-1-4-2

Question ID : 123568316
Status : Answered
Chosen Option : 4




Q.8 = suw-wap Ry ow E, TwE @ O Gl 7 R ot wee € sl o s g1 37 srEA

3ER-THE F 704

ans X1 FB

1

X 2 DDP
V'3 GCV
X 4 BJT

Question ID : 123568317
Status : Answered
Chosen Option : 3

Q.9 RT =T Yo F eAAESF HeTAT F{ AR IH FEAT F TEA F, S v RE (7) BT 3w

23 |5

56 |9

110

121

49 |3

5

ans X 1113

X2 95

X3 111

v 77

Question ID : 123568330
Status : Not Answered
Chosen Option : --

Q.10 o AT oSt % v iREd weg F, 0 F oF dem N F wE S ae ¥ 14 afe § weE E

Ans X111
X29
X35
v 7

Question ID : 123568332
Status : Not Answered
Chosen Option : --

Q.11 Four words have been given, out of which three are alike in some manner and one is different. Select the odd word.

Ans 1. Trumpet
' 2. Xylophone
/< 3. Saxophone

/< 4 Clarinet

Question ID : 123568318
Status : Answered
Chosen Option : 2




Q12 Trafafaa T # dgfea s & Bie 5 & Reat & 3w § g $ 3mEegswa 32
12+ 81-27x9+3=36

SRR AR, -
X2 x 3 -
}(3.+3_ﬁqx
X4+ 3T x

Question ID : 123568331
Status : Answered
Chosen Option: 1

Q.13 o= 3fwa Fe oo #, 'PAGE' 7 '161495' r@m A1ar 31 3@ amwr # 'PART &1 @ forgr smeam?
Ans X1 16128620

# 2 16125020

< 3. 16136220

v 4 16132420

Question ID : 123568322
Status : Answered
Chosen Option : 4

Q14 Femst & = grA v v § Gt @ &7 5 7 5l o @ w € A o amew Bl s
FHA FE-FH F TIT F

Ans  of1.15 : 250

<213 : 169
X317 : 289
X411 121

Question ID : 123568328
Status : Answered
Chosen Option: 1




Q15 =7 aypfy =1 w9 #t, = FEERET g@er F voT REa (7) $ S 37w

ENNAH

-J

Ans

X 3.

Question ID : 123568333

Status : Answered

Chosen Option : 3




Q.16 =7 fweT &1 == wt, Td 77 g | & afy wew & & 1§ Reg W w A A &
et e S e e

Ans

Question ID : 123568338
Status : Answered
Chosen Option : 3

Q17 Rrrafafea guer § yea-fea (2) $ s A= a6 g o9 w'
5. 10:1:26; 7., 122 170
Ans X 1. 77
<2 65
<3 82
v 4 50

Question ID : 123568326
Status : Answered
Chosen Option: 2




Q.18 Rw 1w Yoot 1 UIES HeATA L AR 3T TEA F TAF FL, S T e (?) FOATE I T §

15 |3 24

21 |6 30

49 |5 ?

Ans X 1. 82
X292
X3 98
v 88

Question ID : 123568329
Status : Not Answered
Chosen Option : --

QY CraffEs gEer & wea-Fed (?) 1 T A T HER-TEg F ATA FL
ADG, CGK, EJO, 7, IPW
Ans X 1. GNZ
v 2 GMS
< 3. GMZ
< 4 GNS

Question ID : 123568323
Status : Answered
Chosen Option : 4

02 frafafea smer # vo fRew (2) & o I TN TE TS F)
62, 66, 74, 90, ?
e 1122
~< 2106
x3120
<4 116

Question ID : 123568327
Status : Answered
Chosen Option : 1




1 gy s e Pger ¥

ans X116
X222
X3 28
v 25

Question ID : 123568334
Status : Answered
Chosen Option: 3

22 A+ B HTE A B IR Y

A-Bar 3T g B, AFraga

A x B = 3 & A B #r AT E;

A+ B HTE B, AF e T

I, P+R*xT-Q=+S+Ug P& ST Fr gay 27
Ans  of 1. ATAT

& 2 grEn/ATATATE

X 3. grer

< 4 HET

Question ID : 123568324
Status : Answered
Chosen Option: 1

Q.23 ‘Astronomy’ is related to ‘Stars’ in the same way as ‘Agronomy” is related to ©
Ans X 1. Emotions

/< 2 Planets

o 3. Crops

#< 4 Mines

Question ID : 123568319
Status : Answered
Chosen Option : 3




Q.24 o & o Fr 9 e RulREr e o § 3@ REs a1 oTma #7 S + REd 9 v %
ferofr Wl oX g@reml

# % ¥

A E e

ans 1. g
X2 #
Vi@
p

Question ID : 123568335
Status : Answered
Chosen Option : 1

Q25 =7 Rpew & TOF F, TwH & 7 3y afRE T (g Fr sl 7Y

Ans
K’ 1 E
X2
K’ 3 %
Ny

Question ID : 123568336
Status : Answered
Chosen Option: 2




Q.1 ArREERAAT______ A smafSaglar gl
Ans X1 mem R

X 2. IR

W 3 T

X 4 mETTE

Question ID : 123568341
Status : Answered
Chosen Option : 3

Q.2 F=fafaa & 9 war g urepfaes sare Hew &2
Ans X1

J 2.31T4.T.
K 3w

X 4 3RTT

Question ID : 123568348
Status : Not Answered
Chosen Option : --

Q.3 T fheft srefogaen d gerefifa PR e @ @), At ddmdw _ gaar gl
Ans  of 1 e A gy @

/X 2. R Yt ez & et e

#< 3. 30 @ & ot o

X 4. Wi orfafia

Question ID : 123568343
Status : Answered
Chosen Option : 3

Q.4 fA=fafEa d @ ag =i a1 ugen efeor gians 221 & e - fhfaRin ot sroRTy gt 82
Ans  of 1 sficia

/X 2. ufeem

75 3. que

X 4. 9Ra

Question ID : 123568360
Status : Answered
Chosen Option : 1




Q.5 &f&or ofrar & &fftes FaTar gRfRa o= & 3829 € g9, g8 (UN Women) & * =R

UTeh & 1Y TSERY A ol UTg A @1
Ans X" 1 gRamon
75 2. bt
o 3 &=

5 4. s

Question ID : 123568364
Status : Not Answered
Chosen Option : --

Q.6 2. It TWER A g af yRdg RieE ik R R regrat R 6 «f1?
Ans X" 1.1967-68 %

/< 2.1964-65%
o 3.1965-66 %
/< 4.1966-67 7

Question ID : 123568355
Status : Not Answered
Chosen Option : --

Q.7 g daragd & 3R, (CR) g feam?
Ans X1 R @

75 2. Rer

o 3. <. emioTeTard

75 4. wgr ieh

Question ID : 123568354
Status : Answered
Chosen Option: 3

Q.8 forerw dadq wa emey gem ur?
Ans X" 1 4y 507

K 289477

/< 3.4q, 554

W 45q578

Question ID : 123568352
Status : Answered
Chosen Option : 2




Q.9 I QHATH UTg T AATH FaT Sit Sirarup-eft gt 81
Ans X 1 ifeam

X 2. vegfafam

X 3.

o 4 (@)

Question ID : 123568347
Status : Answered
Chosen Option : 1

Q.10 fF=fafEa d & = a1 37 g aafes 9 g aafh | Hehifaa 78 giar g?
Ans X' 1 ggm

75 2. Rifteferg

/X 3.2y B

o 4 R

Question ID : 123568346
Status : Answered
Chosen Option : 3

Q.11 #efft @« St vRA & uflig miefa oné G« &1 ves @y g, Rafafaa 7 @ frg yrdAg su @

Ans X1 mem R
75 2. s
o 3 wERE
X 4 IR

Question ID : 123568340
Status : Answered
Chosen Option : 2

Q.12 wde RrNe RFad 21
Ans X 1. SiFETEA A3 o wgrar 37 3 forg da g amard a4 gt e

v &)

ST 3R hfST IS gRT -8 TR T TETeR”0T JarsiT o folg eamart 9 ot 718 S[eeh &
/X 3. TR ZRT SHfATE A3 TR & TE el we
75 4. e & o ot foneht Fefieet s & forg sirasae g,

Question ID : 123568342
Status : Answered
Chosen Option: 3




Q.13 fhe SieRTET T=AT 7 ‘aed GSif 3iSecgeh (World Energy Outlook) 2019’ Ruté it &t 82
Ans x 1. Tgeh Ag

/X 2. g @R wrea

75 3. 7AERt (UNESCO)

o 4. sindia g oot

Question ID : 123568362
Status : Answered
Chosen Option : 4

Q.14 Fafafea d @ o9 @ 7 siferfie sifrrgor &1 & wear 87
Ans Jygﬁﬁw(—.ﬁﬁq

75 2. FefRifther

/X 3. 9d T ARy

7K 4. 7Tt Tk IR

Question ID : 123568344
Status : Answered
Chosen Option : 1

Q.15 ¥R A= & srgae & iafq watea =amared 3 $eete it uga ot Jifd sifdar
qifva frar 21

Ans  of 1 19
K 217
X 314
75 421

Question ID : 123568358
Status : Answered
Chosen Option : 2

Q.16 27 ¥R, 2019 ! fafeer dwe 7 smaifSa ufafda Frwgdw gaad sard TRl & R e
VR U=ehR i Hifzar & wra 6 waifdes ars afden R @ awfad forar war ar?

Ans X" 1 s offeet
o 2 Fh g
7 3. < et

X 4. g e

Question ID : 123568356
Status : Answered
Chosen Option: 1




Q.17 SaremgE fewie # F=fafaa d @ @i o f smar gaffdes ae | Rard 36 &2
Ans  of 1 weam

75 2. To TEsiiaTEs
/X 3. e srsifage
/X 4. ErEgier Tewgs

Question ID : 123568350
Status : Answered
Chosen Option: 2

Q.18 ww.gt.5ft.(SDG) Ezar gawicr _____ g1 fRenfa forar mar &1
Ans X1 1 e

x 2. gafarur, a9 $iR Setarg ufkad= #3mer

o 3. R (NITI) st

X 4 Ry ds

Question ID : 123568359
Status : Answered
Chosen Option : 3

Q.19 ufer geft o= afgen 720 simfdha =i 7 waffdes T s=meRs a9y Yt saman §, Hr gl
Ans X 1 gTer

o 2. sitefrn

75 3.9ra

X 4.wmE

Question ID : 123568361
Status : Not Answered
Chosen Option : --

Q.20 39 WRT UgedT ohl AITH JeT (AR grATses aes 3afent (UWW) ZRT SRR hiRerse e
3T & 3TR (2019) =ifAa favar mam g2

Ans  of 1 e g
X 2. Fmmd
25 3. g
7 4. siftra amr

Question ID : 123568357
Status : Not Answered
Chosen Option : --




Q.21 f=fafaa & @ o arere o1 urafde g &2
Ans X 1 iz

/X 2. e At
J&cﬂ'gﬁzm
X 4.

Question ID : 123568345
Status : Answered
Chosen Option: 2

Q.22 fre 7t R 3R foh Tsg & Seharst diy srafedd g2
Ans X" 1. et ) - correr

25 2. 5 A8 - e

W 3. el 7 - weRE

#< 4. IRER 7 - det

Question ID : 123568349
Status : Not Answered
Chosen Option : --

Q.23 AgeA9r O R el & =19 9 ST ST o, &Y ueht off
Ans X 1 afRrTela
/X 2. amgstet

/X 3. @R
o 4 R

Question ID : 123568353
Status : Answered
Chosen Option : 2

Q.24 R F1 & & Ugd SR A &, omah GanfRgiy s ot afa af '@ 9 darfaga @
R’ & wu & g=rar siar 8?

Ans  of 1 sRe &, g FREw
P QVASEICER R
7K 3. STRe gL, i
X 4. S g wiz Rigof

Question ID : 123568363
Status : Not Answered
Chosen Option : --




Q.25 Hiwisd A ugl & orgshd |, g9 31k gt & dfiw wiw @ ug srar 87
Ans X1 geefy

X 2. 30T ()

VR

P R

Question ID : 123568351
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q1 A BHR Cus F10 3 5%e e 24 B, 20 Rm st 18 R A ww =t w6 1 B 3 C =7
T T, 3R T 6 R 77 7T 58 o &7 ¥ 9v I = mEg 7 F v A Fr s e
fe weT?

fre X110 faer
; p

a4

X 4 12§ ICGI

Question ID : 123568373
Status : Answered
Chosen Option: 3

Q2 gfy (2sind+cosecA)=2V2 0° < A< 90°8, & 2(sin*A+ cos*4) & AT sa=T|
Ans x 1. 2

v 1

<3 4

<40

Question ID : 123568383
Status : Answered
Chosen Option: 2

03 gfx Fwar 687x29, 9 ¥ Fasw ¥, & 2x F AT AT HET
ans X1 4

v

<32

X4 3

Question ID : 123568365
Status : Answered
Chosen Option : 3




Q4 g (@+b-272+B+c—52+(c+a-52=0% a Jb+c)F+ (c+a)f —1 & A AT HF=TI

Ans  of 1.3
X2 2
X3 0
X 41

Question ID : 123568378
Status : Answered
Chosen Option: 1

Q.5 r=fafam afeer & Rftss wEat & 2015 ¥ 2019 O%F sowes (e &) far o &) afeer =
e w1 AT T 0 mA F Feaw &

T

EIECH

4

=T

=it

HeFhT

2015

415

2500

1000

975

490

2016

520

4218

1120

825

520

2017

585

3482

1250

700

610

2018

625

4500

1325

625

725

2019

600

3300

1450

775

840

St ¥ 3iag soaee it TSEe F e soee F s (et ) 71
ans K1 471

< 2 549
#3780

v . 231

Question ID : 123568388
Status : Answered
Chosen Option : 4

Q.6 =% Trg 18% ¥ wn X A= M| AMF TF 49 HEH W AN N, AT M 25% AT IW TTG 1 HI-
7T § AT HAw)

Ans X 1. 2890
v 2 2700
X 3 2650
X 4 570

Question ID : 123568370
Status : Answered
Chosen Option : 2




Q.7 30 w==r & wrearEr # sitma 88 &, 3R 7 oY & wrearet @ Toerer =B T, 8 iea wae geal
87.5 g1 | afy ¥ & Sredimt # 2 F A §, O IoadH weai gl

Ans X190
X2 94
v 96
X4 92

Question ID : 123568367
Status : Not Answered
Chosen Option : --

Q8 g T PA ik PB agdl g P & $ O arel UF gea W T 715 &1 IR 2 OAB = 30°, &
£APB T #rfaT

Ans X 1.120°
X2 30°
v 3 60°
X 4 15°

Question ID : 123568380
Status : Not Answered
Chosen Option : --

Q9 #FBHTTABIRCEIT R AT T E B A& o &1 2 791, B % Rwd &7 5 70
dRCF R & 7 @ WK @, A A F e ww A

Ans X 1. 750
X 2. 3500
X 3. 2650
v 4 700

Question ID : 123568371
Status : Answered
Chosen Option : 4




Q.10 fyr=farfEa arfersr &, RAf¥e= ®Har & 2015 & 2019 | 3cues (T=1 #) faar ar &1 Ao &
HeITe Y 3 T T 9o @ 3ecw &)

T | mEe | g | (S| wEer

2015|415 | 2500 | 1000 | 975 | 490

2016 | 520 | 4218|1120 |825|520

2017|585 |3482| 1250|700 (610

2018 | 625 | 4500 | 1325|625 | 725

2019 | 600 | 3300 | 1450 (775|840

a§ 2015 #r gorar H, 2019 H FaF & 3c9eA H fhaw dfoea # 3 g9?
(EerFeT F & TUE T w6

Ans X 1. 60.28%
X 2 65.12%
v'371.43%
X4 77.77%

Question ID : 123568386
Status : Not Answered
Chosen Option : --

Qm I v wHeTE FEfs 1 ame 36V3 cm’® §, A e 1 9REw saEv
Ans X1 3613 cm
< 2183 cm

<3 12cm
W 4 36 cm
Question ID : 123568382
Status : Answered
Chosen Option : 4
Q.12 ABC v P #1 P, Q 3k R o o= AB, BC 3 CA ¥ 7ew fig §1 3f Pgsr ABC

Fr o= P A 8 cm §, A APQR F SEwE 7 HiIw
Ans

<o %gcmz

< 2 8/3 cm?
V'3 44/3 cm?

< 4 ? i

Question ID : 123568381
Status : Not Answered
Chosen Option : --




Q.13 0647 m? SFer ATl T TER RBEF 1.408 km T TS TF TEh §| SHH AN ENT AW A
TFRT T HET AT Fem

@ =T
Ans  of 1. 280
X 2 360
X 3140
X 4180

Question ID : 123568379
Status : Not Answered
Chosen Option : --

1% oy 30—27° =81 s abc=144 ¥ A 12(1+ L+ 20) @ 7w Bl

Ans 18
)
. 120

33
2.
v 10

17
120
18

4
" 10

p gk}

Question ID : 123568377
Status : Not Answered
Chosen Option : --

Q.15 F% ZFFER TH aTg H FT I 5H WE T Hha T § B 20% B gE & F A, 3 1% F
st e g1 iy Afed HEa 1888 §, ° 3W I # FT-HEW IS Hiew

Ans X 1. Z550
X 2 3895
v 2624
X 4 3782

Question ID : 123568368
Status : Not Answered
Chosen Option : --




Q.16 =7 == F, Afw AR A FUR T S B ST g, o 27,800 W 8% WEE = HT W

1 99 ¥ Twafy =it & T 3w @2
Ans X 1.319.46

V2 312.48

X3 329.18

X 4 324.72

Question ID : 123568372
Status : Not Answered
Chosen Option : --

7 S P g F

sin40° cosec50”

cos30° sec40?
Ans x1_ 1

v 2

X3 2

X a1

— 4cosh0°cosec40?

Question ID : 123568385
Status : Answered
Chosen Option : 2

Q.18 uw o & 4 kmh F T F T T T A F 1.25 0 7 | TRw & W 9% 7 AT g 26% T

FH GAT H O7 w7 F OO0 30 HT e # g gfaed 9Eer 2em?

Ans

v 33§%
X 2. 45%
X 3. 25%
X 4 50%

Question ID : 123568374
Status : Not Answered
Chosen Option : --

Q19 40 cm =W arer urg F B A7 F REEET 0.5 om e e SO A T S §

e ST 7 59T A1 TRdT 7
Ans 132,000

X 2 6400

v 3 64,000

X 4 3200

Question ID : 123568375
Status : Not Answered
Chosen Option : --




Q.20 g a+b+c=93Tab+ bc+ ca=-22 g, o a® + b® 4+ c® — 3abc FT AT AT AT

Ans X 1783
X 2 1571
X 3. 487
v+ 1323

Question ID : 123568376
Status : Answered
Chosen Option : 4

Q.21 TfE xcosAd— ysinA =1 3T xsind + ycosA=4 &, @ 17x2 +17y? &1 @ EGIER

Ans  of 1. 289
X 2 49
X3 7
x40

Question ID : 123568384
Status : Answered
Chosen Option : 1

Q.22 ©e gy Fr FAEEAT g I F 30% T 3T e 9§ 16% wH & TS| T THAW FA=wEear 11,050

¥ o 2 w8 wE A s R 9
Ans - X1.10,050

#< 2. 99,000
+ 310,000
«< 4 98,500

Question ID : 123568369
Status : Answered
Chosen Option : 1

ERiE|
Ans X1 9
X2 1
Vs 2
X 4 -1

(30x5)+(84x6)]+5

Q23 ey o g o o=, = a7 3w, o0 @ I o+ AR AT g o B, |

[+18]-+21 1A

Question ID : 123568366
Status : Answered
Chosen Option : 3




Q.24 =T afee & RfeeT Tt & 2015 ¥ 2019 g% c9E= (Ta7 #) & mar &1 afeer =
eI FH{ AT U 7T 997 F 30w &

T

aeT

L4

IMe=AT

=it

HIFHT

2015

415

2500

1000

975

490

2016

520

4218

1120

825

520

2017

585

3482

1250

700

610

2018

625

4500

1325

625

725

2019

600

3300

1450

775

840

T A T e H T F IoNed H WA NOF g A #F gt 1 TS

ans K 12019
X2 2017
v 2016
X4 2018

Question ID : 123568389
Status : Answered
Chosen Option : 2

Q.25 Fr=fafEe afee & RfesT Foet # 2015 ¥ 2019 g% 09E= (Ta7 #) & mar &1 afeer =
T F{ AT O 7T woF 3w &

Y | TEe | A | I S| FE
2015|415 | 2500|1000 | 975 | 490
2016 | 520 |4218| 1120|825 | 520
2017|585 | 3482|1250 700|610
2018 | 625 | 4500| 1325|625 | 725
2019 | 600 | 3300|1450 775|840

e 3 & s ¥
Ans o 1. 3600
< 2 3482
« 3. 3300
X 4 4218

w1 atEa e (e #) e B2

Question ID : 123568387
Status : Answered
Chosen Option : 1

Section : English Comprehension




Q.1 Select the correct passive form of the given sentence.

The farmer is ploughing the fields.
Ans x 1. The fields were ploughed by the farmer.

J 2. The fields are being ploughed by the farmer.
X 3. The fields are ploughed by the farmer.

X 4. The fields have been ploughed by the farmer.

Question ID : 123568392
Status : Answered
Chosen Option : 2

Q.2 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

We came back because we had ran out of money.
Ans X" 1. No improvement

x 2. we have ran
J 3. we had run

x 4. we run

Question ID : 123568394
Status : Answered
Chosen Option : 3

Q.3 Select the option that can be used as a one-word substitute for the given group of
words/phrase.

Having two opposing feelings at the same time
Ans J 1. Ambivalent

x 2. Contemporary
x 3. Coinciding
x 4. Equivalent

Question ID : 123568411
Status : Answered
Chosen Option : 3

Q.4 Identify the segment in the sentence which contains the grammatical error. If there is no
error, select 'No error'

Those who are late they will not be allowed inside the classroom.
Ans x 1. No error

X 2. Those who are late
X 3. inside the classroom

J 4. they will not be allowed

Question ID : 123568390
Status : Answered
Chosen Option : 4




Q.5

Ans

Select the most appropriate ANTONYM of the given word.

Persist

( 1. Cease

x 2. Continue

X 3. Remain
x 4. Insist

Question ID : 123568407
Status : Answered
Chosen Option : 1

Q.6

Ans

Select the correct indirect form of the given sentence.

"What a rare flower!" she said.

J 1. She exclaimed that it was a very rare flower.
x 2. She asked if it was a rare flower.
X 3. She exclaimed what a rare flower it is.

x 4. She told that what a rare flower it was.

Question ID : 123568393
Status : Answered
Chosen Option: 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Atlas was made to hold the sky up on his shoulders as a punishment. Once, Hercules

@) to hold it for Atlas while the latter went looking (2) golden apples. When Atlas
returned, he saw Hercules (3) hard to hold the sky. The weight of the sky (4)
Hercules sweat and groan. Now Atlas did not want to (5) a job as arduous as that!

SubQuestion No : 7

Q.7 Select the most appropriate option to fill in blank 1.

Ans

x 1. extended

( 2. offered
x 3. ordered

X 4. afforded

Question ID : 123568397
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Atlas was made to hold the sky up on his shoulders as a punishment. Once, Hercules

(1) to hold it for Atlas while the latter went looking (2) golden apples. When Atlas
returned, he saw Hercules (3) hard to hold the sky. The weight of the sky (4)
Hercules sweat and groan. Now Atlas did not want to (5) a job as arduous as that!

SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank 2.

Ans o 1 for
/< 2. after
X 3.at
/< 4.0n

Question ID : 123568398
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Atlas was made to hold the sky up on his shoulders as a punishment. Once, Hercules

(1) to hold it for Atlas while the latter went looking (2) golden apples. When Atlas
returned, he saw Hercules (3) hard to hold the sky. The weight of the sky (4)
Hercules sweat and groan. Now Atlas did not want to (5) a job as arduous as that!

SubQuestion No : 9
Q.9 Select the most appropriate option to fill in blank 3.

Ans ( 1. struggling
X 2. tackling
x 3. seeking
X 4. coping

Question ID : 123568399
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Atlas was made to hold the sky up on his shoulders as a punishment. Once, Hercules

(1) to hold it for Atlas while the latter went looking (2) golden apples. When Atlas
returned, he saw Hercules (3) hard to hold the sky. The weight of the sky (4)
Hercules sweat and groan. Now Atlas did not want to (5) a job as arduous as that!

SubQuestion No : 10
Q.10 Select the most appropriate option to fill in blank 4.

Ans X" 1. were making
X 2. has made

X 3. make

“ 4. was making

Question ID : 123568400
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Atlas was made to hold the sky up on his shoulders as a punishment. Once, Hercules

@) to hold it for Atlas while the latter went looking (2) golden apples. When Atlas
returned, he saw Hercules (3) hard to hold the sky. The weight of the sky (4)
Hercules sweat and groan. Now Atlas did not want to (5) a job as arduous as that!

SubQuestion No : 11
Q.11 Select the most appropriate option to fill in blank 5.

Ans X 1. take in

X 2. take out

( 3. take back

X 4. take away

Question ID : 123568401
Status : Not Answered
Chosen Option : --

Q.12 Select the most appropriate synonym of the given word.

Ovation
Ans x 1. Preparation

x 2. Censure
« 3. Applause
x 4. Creation

Question ID : 123568405
Status : Answered
Chosen Option: 3




Q.13 Select the most appropriate option to fill in the blank.

The roof of the old building during the storm.
Ans x 1. demolished

x 2. destroyed
X 3. scratched

“ 4. collapsed

Question ID : 123568414
Status : Answered
Chosen Option : 4

Q.14 Select the INCORRECTLY spelt word.
Ans X" 1. Alliance

J 2. Acquaintence
x 3. Abandon

x 4. Acquisition

Question ID : 123568413
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate synonym of the given word.

Preferred
Ans x 1. Feared

“ 2. Favoured

X 3. Adored

x 4. Compared

Question ID : 123568404
Status : Answered
Chosen Option : 2

Q.16 Select the most appropriate option to fill in the blank.

She how the magician had performed the rope trick.

Ans  off 1 wondered
x 2. bewildered

x 3. puzzled

x 4. suspected

Question ID : 123568415
Status : Answered
Chosen Option : 2




Q.17 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

When it started raining, | ran to the nearer house for shelter.
Ans X" 1. No improvement

J 2. the nearest house
x 3. a near house

x 4. the near house

Question ID : 123568395
Status : Answered
Chosen Option : 2

Q.18 Select the most appropriate meaning of the given idiom.

Chicken-hearted
Ans X" 1. Generous

x 2. Miserly
/X 3.Selfish

J 4. Cowardly

Question ID : 123568409
Status : Answered
Chosen Option : 4

Q.19 Select the most appropriate ANTONYM of the given word.

Glee

Ans X" 1 Fun
X 2. Joy
o 3. Woe
/X 4.Bliss

Question ID : 123568406
Status : Answered
Chosen Option : 3

Q.20 Select the most appropriate meaning of the given idiom.

By and by
Ans ( 1. Gradually

x 2. Suddenly
x 3. On the whole

x 4. By any means

Question ID : 123568408
Status : Answered
Chosen Option : 1




Q.21 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. The mountain range was covered with snow.

B. Napoleon had to cross the Alps in winter.

C. Napoleon replied that the word 'impossible’ did not exist for him.
D. So, someone told Napoleon that the task was impossible.

Ans X" 1 DBCA

o 2.BADC
/5 3.BDCA
#< 4.ADBC

Question ID : 123568402
Status : Answered
Chosen Option : 2

Q.22 Select the option that can be used as a one-word substitute for the given group of
words/phrase.

A group of ships
Ans x 1. squad

J 2. fleet
X 3. swarm
X 4. colony

Question ID : 123568410
Status : Answered
Chosen Option : 1

Q.23 lIdentify the segment in the sentence which contains the grammatical error. If there is no
error, select 'No error'

Everyone except she have travelled by air.
Ans X" 1. travelled by air

x 2. Everyone except

J 3. she have
x 4. No error

Question ID : 123568391
Status : Answered
Chosen Option : 2

Q.24 Select the wrongly spelt word.
Ans X" 1 Fierce

J 2. Sieze
x 3. Piece
75 4. Grief

Question ID : 123568412
Status : Answered
Chosen Option: 3




Q.25

Ans

Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. Much of this war had taken place along the Western Front.
B. Both sides had dug in deep and each lost many men over little ground.

C. This front was a line of trenches across which the two sides faced each other.
D. Andre Maginot had fought a war with the French against the Germans.

/5 1.BCDA
o 2.DACB
/5 3.ACDB
#< 4.DBCA

Question ID : 123568403
Status : Answered
Chosen Option : 2




